Journal of Scientific and Engineering Research, 2018, 5(10):272-276



Research Article

ISSN: 2394-2630 CODEN(USA): JSERBR

Some Inequalities for the Frobenius Norm of Complex Matrix

TU Yuanyuan*¹, LIU Shihui²

¹Department of Mathematics, Taizhou College, Nanjing Normal University, Taizhou 225300, China ²College of Mathematics and Statistics, Nanjing University of Information Science and Technology, Nanjing, 210044, China

Abstract In this paper, we use the existing conclusions of unitary invariant norm inequalities to present some inequalities under certain conditions of the Frobenius norm of the complex matrix, at the same time, we extend the corresponding results.

Keywords unitary invariant norm, Frobenius norm, inequalities

1. Introduction

For a complex number x = a + ib, where a, b are all real, we write $\operatorname{Re} x = a$, $\operatorname{Im} x = b$, as usual, let $C^{m \times n}$ be the set of $m \times n$ complex matrices, U_n be the set of all $n \times n$ unitary matrices, A be an $n \times n$ matrix, denote the eigenvalues of A by $\lambda_i(A)$, the singular values of A by $\sigma_i(A)$, the trace of A by trA, the associate matrix of A by A^H , and the Frobenius norm of $m \times n$ complex matrix by

$$||A||_{F} = (trA^{H}A)^{1/2} = \left(\sum_{i,j} |a_{ij}|^{2}\right)^{1/2}, A = (a_{ij}) \in M^{m \times n}$$

A great deal of work on the topic has been done by a number of authors [2-6], in 1979, *Marshall* and *Olkin* gave the following inequality ^[3]

$$\left\|A - B\left(UV^*\right)\right\|_E \le \left\|A - B\Gamma\right\|_E \tag{1.1}$$

Where A, B are complex matrices, U, V, Γ are unitary matrices and $B^*A = U(B^*A)_{\sigma}V^*$.

In1999, Wang boying extended the (1.1), made it also valid in unitary invariant norm^[4], and got the equality

$$\left\|A_{\sigma} - B_{\sigma}\right\|_{ui} \le \left\|A - UBV\right\|_{ui} \le \left\|A_{\sigma} + B_{\sigma}\right\|_{ui}$$
(1.2)

Where A, B are complex matrices, U, V are unitary matrices, $\|\cdot\|_{ui}$ is the unitary invariant norm.

The purpose of this paper is to use the existing conclusions to present some inequalities under certain conditions of the Frobenius norm of the complex matrix, and extend the results of Wang boying.

2. Main Results

Theorem 1. Let A and B be $n \times n$ complex matrices, and C be $m \times m$ complex matrix, W be $m \times n$ complex matrix,

Journal of Scientific and Engineering Research

(1) If
$$\operatorname{Re} tr(A(B^{H} - W^{H}C^{H}W)) \ge 0$$
 and $||W^{H}CW||_{F} \ge ||B||_{F}$, then $||A - B||_{F} \le ||A - W^{H}CW||_{F}$;
(2) If $\operatorname{Re} tr(A(B^{H} - W^{H}C^{H}W)) \le 0$ and $||W^{H}CW||_{F} \le ||B||_{F}$, then $||A - B||_{F} \ge ||A - W^{H}CW||_{F}$;
(3) If $\operatorname{Re} tr(A(B^{H} - W^{H}C^{H}W)) = 0$ and $||W^{H}CW||_{F} = ||B||_{F}$, then $||A - B||_{F} = ||A - W^{H}CW||_{F}$.
Proof. We first show (1).

$$Re tr(A(B^{H} - W^{H}C^{H}W)) \ge 0 \Leftrightarrow 2Re tr(AB^{H}) \ge Re tr(AW^{H}C^{H}W)$$
$$\Leftrightarrow tr(AB^{H} + B^{H}A) \ge tr(AW^{H}C^{H}W + A^{H}W^{H}CW)$$
$$\|W^{H}CW\|_{F} \ge \|B\|_{F} \Leftrightarrow tr[(W^{H}CW)^{H}(W^{H}CW)] \ge tr(B^{H}B)$$
$$\Leftrightarrow tr(W^{H}C^{H}WW^{H}CW) \ge tr(B^{H}B)$$

Thus, we have

$$\|A - W^{H}CW\|_{F}^{2} = tr(A - W^{H}CW)^{H}(A - W^{H}CW)$$

= $tr(A^{H}A + W^{H}C^{H}WW^{H}CW - A^{H}W^{H}CW - AW^{H}C^{H}W)$
 $\geq tr(A^{H}A + B^{H}B - AB^{H} - B^{H}A)$
= $tr(A - B)^{H}(A - B) = \|A - B\|_{F}^{2}$.

Then we show (2).

$$Re tr(A(B^{H} - W^{H}C^{H}W)) \leq 0 \Leftrightarrow 2Re tr(AB^{H}) \leq Re tr(AW^{H}C^{H}W)$$
$$\Leftrightarrow tr(AB^{H} + B^{H}A) \leq tr(AW^{H}C^{H}W + A^{H}W^{H}CW)$$
$$W^{H}CW \Big|_{F} \leq \|B\|_{F} \Leftrightarrow tr[(W^{H}CW)^{H}(W^{H}CW)] \leq tr(B^{H}B)$$
$$\Leftrightarrow tr(W^{H}C^{H}WW^{H}CW) \leq tr(B^{H}B)$$

Thus, we have

$$\begin{split} \left\| A - W^{H}CW \right\|_{F}^{2} &= tr(A - W^{H}CW)^{H}(A - W^{H}CW) \\ &= tr(A^{H}A + W^{H}C^{H}WW^{H}CW - A^{H}W^{H}CW - AW^{H}C^{H}W) \\ &\leq tr(A^{H}A + B^{H}B - AB^{H} - B^{H}A) \\ &= tr(A - B)^{H}(A - B) = \left\| A - B \right\|_{F}^{2}. \end{split}$$

The (1) and (2) yield the right of (3). The proof is completed.

If W is any unitary matrix, and its *Frobenius* norm is unitary invariant norm, then,

 $\|W^{H}CW\|_{F} = \|C\|_{F} \le \|B\|_{F}$, it satisfy the conditions of Theorem 1, thus, the following result holds. **Corollary 1.** Let A, B and C be $n \times n$ complex matrices, W be $n \times n$ unitary matrix, then

(1) If
$$\operatorname{Re} tr(A(B-W^{H}CW)) \ge 0$$
 and $\|C\|_{F} \ge \|B\|_{F}$, then
 $\|A-B\|_{F} \le \|A-W^{H}CW\|_{F}$;
(2) If $\operatorname{Re} tr(A(B-W^{H}CW)) \le 0$ and $\|C\|_{F} \le \|B\|_{F}$, then
 $\|A-B\|_{F} \ge \|A-W^{H}CW\|_{F}$;

Journal of Scientific and Engineering Research

(3) If
$$\operatorname{Retr}(A(B-W^{H}CW)) = 0$$
 and $\|C\|_{F} = \|B\|_{F}$, then
 $|A-B\|_{F} = \|A-W^{H}CW\|_{F}$.

Remark 1. If C = B in Corollary1, it is easy to see the following inequalities hold.

(1) If $\operatorname{Retr}(A(B-W^HBW)) \ge 0$, then

$$\left\| A - B \right\|_{F} \le \left\| A - W^{H} C W \right\|_{F} ; \qquad (2.1)$$

(2.2)

- (2) If $\operatorname{Retr}(A(B-W^{H}BW)) \leq 0$, then $\|A-B\|_{F} \geq \|A-W^{H}CW\|_{F}$;
- (3) If $\operatorname{Retr}(A(B-W^HBW)) = 0$, then

$$\left\| A - B \right\|_{F} = \left\| A - W^{H} C W \right\|_{F}.$$
(2.3)

The (2.1) is the inequality of the theorem 2.4 in [5].

Theorem 2. Let A, B and C be $n \times n$ complex matrices, W be $n \times n$ unitary matrix, if $Re tr(AW^{H}C^{H}W + A^{H}B) \ge 0$ and $||C||_{F} \le ||B||_{F}$, then

$$A - W^{H} C W \Big\|_{F} \le \left\| A + B \right\|_{F}.$$

$$(2.4)$$

Proof. $\|C\|_{F} \leq \|B\|_{F} \Leftrightarrow tr(C^{H}C) \leq tr(B^{H}B),$ $Re tr(AW^{H}C^{H}W - A^{H}B) \geq 0 \Leftrightarrow tr(AW^{H}C^{H}W + A^{H}W^{H}CW + A^{H}B + B^{H}A) \geq 0$ $\Leftrightarrow tr(A^{H}B + B^{H}A) \geq -tr(AW^{H}C^{H}W + A^{H}W^{H}CW)$

thus

$$\|A - W^{H}CW\|_{F}^{2} = tr(A - W^{H}CW)^{H}(A - W^{H}CW)$$

= $tr(A^{H}A + W^{H}C^{H}CW - A^{H}W^{H}CW - AW^{H}C^{H}W)$
= $tr(A^{H}A + C^{H}C) - tr(A^{H}W^{H}CW + AW^{H}C^{H}W)$
 $\leq tr(A^{H}A + B^{H}B + A^{H}B + B^{H}A)$
= $tr(A + B)^{H}(A + B) = ||A + B||_{F}^{2}$.

The proof is completed.

Corollary 2 Let A and B be positive semidefinite matrices, W be any unitary matrix, then

$$\left\|A - W^{H}BW\right\|_{F} \leq \left\|A + B\right\|_{F}.$$
(2.5)

Proof. For $A \ge 0$, $B \ge 0$, notice that $W^H B W \ge 0$, then

$$tr(AW^{H}BW) = \sum_{i=1}^{n} \lambda_{i}(AW^{H}BW) \ge \sum_{i=1}^{n} \lambda_{i}(W^{H}BW)\lambda_{n-i+1}(A)$$
$$= \sum_{i=1}^{n} \lambda_{i}(B)\lambda_{n-i+1}(A) \ge 0,$$
$$tr(A^{H}B) = tr(AB) = \sum_{i=1}^{n} \lambda_{i}(AB) \ge \sum_{i=1}^{n} \lambda_{i}(A)\lambda_{n-i+1}(B) \ge 0,$$



Hence, we get

$$Re tr(AW^{H}C^{H}W + A^{H}B) = tr(AW^{H}BW) + tr(A^{H}B) \ge 0.$$

Particularly, for C = B, by Theorem 2, the inequality (2.5) is completed.

Remark 2. The Theorem2 in [4] point that : If A, B are complex matrices,

 $A_{\sigma} = diag(\sigma_1(A), \sigma_2(A), \dots, \sigma_n(A)), B_{\sigma} = diag(\sigma_1(B), \sigma_2(B), \dots, \sigma_n(B))$, where

 $\sigma_1(A) \ge \cdots \ge \sigma_n(A) \ge 0, \quad \sigma_1(B) \ge \cdots \ge \sigma_n(B) \ge 0$. Let U, V are unitary matrices, then

$$\left\| A - VBU \right\| \leq \left\| A_{\sigma} + B_{\sigma} \right\|,$$

Where $\|\cdot\|$ is the unitary invariant norm.

Particularly, let unitary invariant norm be Frobenius norm such that $V = U^{H}$, then, we get

$$\left\| A - U^{H} B U \right\|_{F} \leq \left\| A_{\sigma} + B_{\sigma} \right\|_{F}$$

$$(2.6)$$

if A and B are diagonal and positive semidefinite matrices, then there is an unitary matrix P, leads to $P^{H}AP = \Lambda_{1}$, $P^{H}BP = \Lambda_{2}$, where $\Lambda_{1} = diag(\sigma_{j_{1}}(A), \sigma_{j_{2}}(A), \cdots, \sigma_{j_{n}}(A))$, $\Lambda_2 = diag(\sigma_{k_1}(B), \sigma_{k_2}(B), \cdots, \sigma_{k_n}(B)).$

So by Theorem 2, we get

$$\begin{split} \left\| A + B \right\|_{F}^{2} &= \left\| P^{H}(A + B)P \right\|_{F}^{2} \\ &= \left\| diag((\lambda_{j_{1}}(A) + \lambda_{k_{1}}(B)) + \dots + (\lambda_{j_{i}}(A) + \lambda_{k_{i}}(B))) \right\|_{F}^{2} \\ &= \left\| \Lambda_{1} + \Lambda_{2} \right\|_{F}^{2} &= \sum_{i=1}^{n} (\lambda_{j_{i}}(A) + \lambda_{k_{i}}(B))^{2} \\ &= \sum_{i=1}^{n} \lambda_{j_{i}}^{2}(A) + \sum_{i=1}^{n} \lambda_{k_{i}}^{2}(B) + 2\sum_{i=1}^{n} \lambda_{j_{i}}(A)\lambda_{k_{i}}(B) \\ &\leq \sum_{i=1}^{n} \lambda_{i}^{2}(A) + \sum_{i=1}^{n} \lambda_{i}^{2}(B) + 2\sum_{i=1}^{n} \lambda_{i}(A)\lambda_{i}(B) \\ &= \sum_{i=1}^{n} (\lambda_{i}(A) + \lambda_{i}(B))^{2} &= \left\| A_{\sigma} + B_{\sigma} \right\|_{F}^{2}, \end{split}$$

Thus,

$$\left\| A - U^{H} B U \right\|_{F} \leq \left\| A + B \right\|_{F} \leq \left\| A_{\sigma} + B_{\sigma} \right\|_{F}.$$

Obviously, the Corollary2 extended the conclusions of [4].

Acknowledgments

Author: Tu yuanyuan, female, 1988, lecturer, master's degree, research direction: matrix, algebra. National natural science foundation (11601234), Jiangsu natural science foundation (BK20160571).

References

- Dai Hua (2001). Matrix Theory, Beijing: Science Press, 93-116. [1].
- Yang Xingdong, Diao Zhigang, Liu Shihui (2015). Some Inequalities for sum of Hermitian matrix. [2]. Mathematica application, 28(3):475-480.



- [3]. A.W.Marshall, I. Olkin (1979). Inequalities: Theory of Majorization and Its Applications. New York: Academic Press, 78-95.
- [4]. Wang Boying, Xi Boyan & Zhang Fuzhen (1999). Some inequalities for sum and product of positive semidenite matrices. Linear Algebra and Its Applications, 293(293): 39-49.
- [5]. Yang Zhuwang (2012). Inequality of matrix trace and its application.
- [6]. Tian Yongge (2010). Equalities and inequalities for inertias of Hermitian matrices with applications. Linear Algebra and its Applications, 433(1): 263-296.